A

CALRROYAL

INC.

INSTALLATION INSTRUCTIONS FOR GLSCVR98 SERIES NARROW HEAD
CONCEALED VERTICAL ROD PANIC EXIT DEVICE FOR GLASS DOORS

PRODUCTS,

Top
Chasis
Available stock length THIS EXIT DEVICE IS HANDED
- For 32" doors, Device can be cut to CHECK HAND OF DEVICE AGAINST APPLICATION
Top fit doors down to 24" wide
Bolt - For 36" doors, Device can be cut to RIGHT HAND ouT
" "o LEFT HAND
fit doors down to 32" wide REVERSE BEVEL 1t REVERSE BEVEL
- For 48" doors, Device can be cut to
fit doors down to 36" wide DOUBLE DOORS
Top T
Rod —
Door surface must be flushed to
allow Exit device to rest on flat
surface of door
Main
Chasis Mounting
Fillister HD i
Machine
Screw Mounting
Inner | Plate
Chasis
)
Push Rail Dogging
To operate
push rail, insert dogging
' . key and turn clockwise
Bottom N
Rod ——
° ! Head Cover
Sleeve— #10-21 FLL HD Machine screws
Q or #10x1" FL HD wood screws
Spring — 340
§ 2.76" U
Il
g?;tgins ) N N W i If Esc Lever trim is used,
Tl e ® See Instruction sheet
Bottom 0.37" -{'—"IZO'“" ‘ s packed with the trim
Case Q}
57 TOP STRIKE

1. PREPARE DOOR 2. MOUNT ROD & CHASIS 3. MOUNT RAIL ASS'Y

INSIDE SURFACE OF Use Strike Furnished 3.1. Determine cut-off dimension "X" by subtracting 1-1/8"

.37" . 1 :
P LHRB DOOR SHOWN - Screw top and bottom rod into from dimension "Y"
o @ . . X . .
‘;" < O r crEw inner chasis, and insert this ass'y 3.2. Depress arm into rail opening and slide rail onto chasis
A T HOLES ARE IDENTICAL into the door and fasten inner chasis dimension "Y"
q —H—0.24" FOR EITHER HAND in place with Fillister HD and flat
" DRILL AND C-SINK FOR i VERTICAL RAIL MUST OVERLAP STILE BY 5/16" MIN MARK CUT-OFF POINT
D oar #10 FL.H.SCREW HD machine screws REFERENCE LINE ON MOUNTING RAIL
J\ﬁ‘\/\ﬁ 2 PLAéES (CHASSIS) CUT-OFF AND DEBURR
N DN - Adjust top and bottom rods |
[ NS A T rNGE o - Position and fasten top and bottom & i TIOUNTING RALL @ INSERT
5 SCREW USE ‘ chassis in place — J
5 5 MOUNTING PLATE TO i [ X — CUT-OFFLENGTH
. e
& / . - Before hanging door, fasten bottom Y
263 R 1 plate to door
—_— - — | - If Esc Lever trim is used,mount it 4. ATTACH COVER
° 1 before mounting main chasis - Attach cover to chassis with four cover screws
. HINGE STILE ‘
g ' HINGE STILE ]
° . =g
€ I —Hih———4%$-®—— -
= :t-:i
41" DRILL AND COUNTER
STD. SINK FOR M5X0.8 FLAT
HGT. HD.SCREW Before locating Mounting plate
and levelling rail assembly
U?\ﬁ__g/és DRILL AND wwousron  attach rail to main chassis - Attach end cap to
CUTOUT THIS pACHNE ; . " mounting plate with
OTHERWISE OF CHASSIS S oF pooR with two #8-32 x 3/8" Iruss Attach cover to four cover screws
SPECIFIEDW ONLY head screws, do not tighten yet chassis with four
cover screws
| N — P
1 P
%——I
;l: 5. OPERATION CHECK
ERCRRRE
5/8"TYPICAL UNDER CUT o 5.1 Depress pushrail, bolt should retract into door.
BOTTOM OF DOOR ‘ BOTTOM PLATE The latch retractor button should pop out and hold the bolt retracted
=== until button is depressed

BOTTON STRKE

Z

5.2 If button does not pop out, remove top chassis and screw the top rod

FINISHED FLOOR
S S S in one turn. Replace top chassis and repeat above operation

7 Z




